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Note:- You have four choices for each objective type question as A, B, C and D. The choice which you think is correct: fill
that circle in front of that question number. Use marker or pen to fill the circles. Cutting or filling two or more circles will
result in zero mark in that question. Write PAPER CODE, which is printed on this question paper, on the both sides of the
Answer Sheet and fill bubbles accordingly, otherwise the student will be responsible for the situation. Use of Ink Remover or

white correcting fluid is not allowed. Q.1

1) No term of geometric sequence can be:

(A) Zero B) 1 ()2 (D) 3
2) Multiplicative inverse of —i is

(A) i T B)—i (€)1 (D) -1
3) A function f: A= B is surjective if:

(A) Range f=A ‘B) Range of f=B (C) Range f = A (D)(Range { # B
4) The co-factor of an element a;; denoted by A;;=

(A) DY My, B) (-1) My; ©) ()™ My (D) (1) M
5) For a non-singular matrix A, if AX = B,then X = ___

(A) A" B (B) BA™ © @)’ D) (BA)Y'
6) The polynomial 3x” +2x +1 has degree:

(A) 0 (B)3 (C)2 (D)4
7) A quadratic equation ax’ + bx + ¢ = 0 becomesilinear equation if’

(A)a=0,b#0 (B) ¢ =lpa #0 Ca+0,b=0 (D)Ya=b=0
8) Any improper fraction can be reduted to a mixed form by:

(A) Addition (B) Maltiplication (C) Division (D) Factorization
9) If a,_3 = 2n = 5. Then7thterm is:

(A) 9 (B) 11 )15 (D) 13
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10) If cosx = -15 . Then reference angle is:

T 3 7 /4

(A 2 ®) 5 ©3 D) 3
11) The value of 4! 0! 1! is:

(A)0 (B) 1 (O (D) 24
12) "C, equals:

(A) ™P, (B) "C, (€ "C, (D) *Cpsa
13) In expansion of (a+b)’, the 2nd term is:

(A)a' (B) 7ab (C) 7a°b (D) zel
14) The sum of even co-efficients in the Binomial expansion of (1 + x)™ is equ

(2™ B8) 2" ©z2" (01
15) One radian is equal to: o

If sinx _ cosx Thenx _ ——

(A) 57.296° (B) 57° (©) 56° Q‘ (D) 0.0175°
>

(A) 30° @0 . ' (D) 60"
17) Range of cotagent function is: \
(A) N B) Z G R D)y €

18) If AABC be any triangle and

. (A) ¢ =a? + b? Q (C) a? = b* + ¢* (D) a2 +b*=0
19)b? + c2 — 2bc co Q
(A) A \ (C) a? (D) b?

20)cos (2 sin”
(A) (B) J1-x2 (C) J1 + 2x2 (D) 1-—2x?
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2. Answer briefly any Eight parts from the followings:- 8 x2=16
Show thatV z, ,2, € C, Z1Z; = Z1Z2 -

Simplify by justifying each step -E—;—E—- (iii) Write down the power set of the set {+, —,%,+}
b d

(iv) Provethat pv(~pA ~q) VvV (PA Q=pV(~pAr~q

(\))

If a, b are elements of a group 'G'then show that (bt = e

)  Findx and y if [2 2 §]+2[é A =

1 6 1
1 2

0
(vii) 1If A=[a; flax-t then show that Aly= A (viii) If A=| 3 2 —1| Showthat A-A'is Skew Symmetric.
) =1 3 2
(ix) Evaluate w?® + w?®+1 (x) If @, B are roots of 3x2 2x+4=0 Find value of a %>

(xi) For what value of ‘m’ will the roots of equation (1 + m)x? —2(1+3m)x + 1+ 8m = 0, beequal

(xii) Solve the system of equations (x—3)2+y?=5,2x=y+6

3. Answer briefly any Eight parts from the followings:- 8 x2=16

2
. " ! —4x-35
Without finding unknown constants, write partial fraction form Of ® > ot
(x=2)(x* +7x+10)

(i)  Write 21st and 26th terms of the sequence whose general term.is =1+t
(iii)  Find the 18th term of the AP if its 6th term i®19 and,Oth term is 31.

(ivy ~How many terms of the series -9-6-3+0#... & amourif'to 667

1
w I,

1 5 \ s
%,: are in G.P, show that coniimon ratio 1s i\E.

2(y=-1)

2
(vi) [fy:1+§+§-+~-,rhenshowthatx=- =,

(vii) Write %‘—i— in the factoial form.

(vii) Find the value &fn When ''Py= 11.10.9

(ix)  Inhow manywayscan 4 keys be arranged on a circular key ring?

3
(x) Show that "—-EE represents an integer forn=2,3.

10
(xi)  Fingd the term independent of x in the expansion of (x - %) :

(xii) Use binomial theorem to find the value of Y31 to three places of decimal.
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Note

(a)

(b)

(2)
(b)
()
(b)

(a)
(b)
(2)

(b)
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Answer briefly any Nine parts from the followings:- 9 x2=18
What is the length of the arc intercepted on a circle of radius 14 ems by the arms of a central angle of 45°
Verify that sin? 1;-+ sin? %+ tan? % =2,
Prove the identity (sec8 + tan8)(secd — tanf) = 1
If @, B,y are the angles of a triangle ABC then prove that cos (#) =sin E
cos 8°-sin 8°

Prove that ————— =tan 37° (vi) Express sin 88 — sin 48 as product.
cos B°+sin 8

Find the period of tan%

A kite flying at height of 67.2 m is attached to a fully stretched string inclined at an angle of 55° to
the horizontal, Find the length of the string.

Find the smallest angle of the triangle ABC when a=37.34, b=3.24, ¢ = 35.06.

Find ry and r; if measure of the sides of triangle ABC are a=34, b=20, ¢=42.

19

=tan" " —

Prove that tan™1 > % tan~!
4 19

u | =

Find the solution of the equation sin x = — -ZJ—E- which lies in [0, 277]

Find the value of 6 satisfying equation 2sin?8 — sinf = 0 in [0,2n].

LT 1 (1] 1 [ —. |
: Attempt any three questions. ) (10 x 3=30)
e 11 L
1 L 1
Show that || =(x+3)(x—1)°
1 1 = 1
1 1 1 &
12x3-# 2yt =0
Solve the following system of equations, . o=l
2% Txy = 60
x

Resolve into partial fraction$

(& —-a¥x—-b)x—c)
How many numbers greater than 1000,000 can be formed from the digits 0,2,2,2,3,4,4?
Sum the series 2-+(1 — i) + G) - — to 8 terms.

0
Find the coefficientief ; x> in the expansion of [x" ——23—]
X

Prove that ‘8in®6 + cos®@ = 1 — 3 sin®6 cos*6
Ifa & by = 180° show that cota.cotf + cotf.coty + coty.cota = 1
Find thesmeasure of greatest angle, if sides of triangle are 16 , 20 , 33.

Preve that sin™ [S—] + sin"[lJ =cos” (@
13 29 325
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